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Cod ﬂolumbof11~ 05009 031419 - Columbofil : Amariacarei CGheorghe
Latitudine : +046,42.58,1 Longitudine : +026,41.13,1

Ceas Atomic . 13.06,24 13:49:38 (AT Ceas Atomic + 17.06.24 18:30:12 CAT
reas BENZING ¢ 13.08.24 132:49:38 +000 Ceas BENZING : 17.06.24 18:30:12 +000C
Sincvonizare : 13.06.24 13:49:38
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Nr. | Serie inel ‘ CulolNr.inel |Sosire Nr. !|Nom|Sec|[Obs.

Sl o jare |Senzor Data Ora Ant Nr.
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IEODAEAGROF|15.06 12:52:52.7] 01|016[0K [028
ARG |DAEAGCID|15.06 13:00:34.4| 01/004|OK {006
ALBS |DACBES7B|[15.06 13:09:28.9] 01[003|0K [023
DAF205R0[15.06 13:16:27.3| 01]002{0K {007
ALBS | DARAEAR7|15.06 12:17:59.7] 01]013[0K |021
ALBS | DAEAGBBD|15.06 13:23:49.4| 01,0050k {002
007! RO 23 0438882 TIG |DA238C31|15.06 13:33:44.9| 01|P15/0K | 005
008! RO 22 DLB1488 ALBS | DAEAGALL!15.06 13:34:23.0] 011010|0K 018
009! RO 23 0438865  M|ALBS |{DAEASR77]15.06 13:38:17.4) 01,011{0K 1015
010! RO 23 0438855 M ALBS|DAEAGDAC|15.06 13:39:05.1] 01|D14|OK 008
011! RO 21 225922 MITIG |DAEA6CD3(15.06 13:39:38.5| 01|0D01|OK |012
4121 RO 92 0181480  FIALBS | DAEASEDF!15.05 14:25:08.0; 01]008|OK [016
012| RO 22 0179520  F:ALPA|DAEAGC2115.06 15:16:54.8| 01|012]0K 026
014, RO 23 0439543  F/ALBS|DABAGBFF 15.06 15:48:35.8 01/008/0K 019
015 RO 22 0179541  F ALBS|DAIBESSF(15.06 16:47:13.5) 01)00710K 1032
016 RO 22 0179513  M/ALBS|DARAGA99 15.06 18:16:57.9| 01]006]0K [013

g01l RO 23 Q437068
002 BO 23 0438857
003 RO . 23 1184054
004 RO 23 1184041
nesl RO 23 0439544
Qo6 RO 23 0438851
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Yersiune SW : RO-02.07 Cod concurs . : 028951 Serie ceas . 216541
Antena Club : ﬁhRZING 48907635 SW-4. 5 HW-8.0 Butorizare 1 900025844

Ant.: 031:38801L352-
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